50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Fifth Semester B.E. Degree Examinaﬁflpri, Dec.2018/Jan.2019
Transmission and Distribution
Time: 3 hrs. . m”i%;\/{ax N’ar‘(s 100
Note: Answer any FIVE full question "Sc?lecting atleast TWO questzons from: each part.
PART - A
1 a. Draw the single line dlagram ‘of typical power supply scheme indicating the standard
voltages. 4 (05 Marks)
b. State the effect of hlgh \4
(10 Marks)
C. (05 Marks)
2 a. Derive the expres 1 onductors supported by the towers situated
at different levels (06 Marks)
b. Write anoteion': i) Stringing chart ii) Sag Template. (06 Marks)
c. A transmission line has a span of 200 meters between level supports. The conductor has a
Cross sectlonal area of 1.29cm’ r _ghts 1170 kg/km and has a breaking stress of 4218
kg/cm?. Calculate the sag for a safety factor of 5, allowmg a wind pressure of 122 kg per
square metre of projected area. What is the vertical sag‘?’ (08 Marks)
3 a. State the various propertles of an insulator. _ . w (05 Marks)
b. An insulator string consists of three units, each having a safe working voltage of 15 KV.
The ratio of self —. capacitance to shunt capacitance of each unitiis 8:1. Find the maximum
safe working voltage.of the string. Also.find the string efﬁcwncy (10 Marks)
c. Write a note on testmg of 1nsulators- o (05 Marks)
.4 a. Discuss the different factors affecting Corona. (06 Marks)
b. Derivethe'expression for capacitance of a Slngle Cof Cable (06 Marks)
c. A 66KV single core leadsheathed cable is gradeﬁ by using two dielectrics of relative

Derive an express:

ely Thickness of each being lcm. The core diameter is 2cm.

perm1tt1v1ty 5and 3 respe
» ess in the two, dleIecfncs (08 Marks)

temnne the maximu

~ PART-B
nce per phase for a 3 phase over head transmission line
. placed but the line is completely transposed.

for the induc
when conductors are unsymmetn

(10 Marks)
Find the mductance per phase..,,per km of double circuit 3 phase line shown in fig. Q5(b).

The conductors are transposed and are of radius 0.75c¢m each. The phase sequence is ABC.
(10 Marks)
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Derive the expression for capacitance of a Single p%ase ransmission line. (07 Marks)
Write a short notes on Bundled conductors. ¢ Ja (05 Marks)
A 3 - phase, 50 Hz, 132 KV, overhead line.has conductors placed in a horizontal piane 4m
apart. Conductor diameter is 2cm. If the length

his 100 km, calculate the Charging current per
phase assuming complete transposition. & ﬁf@; = %0, (08 Marks)
Deduce an expression for transm@gi%?%fﬁciency and regulation for medium transmission
line using nominal ‘T’ method. .=, ANy (06 Marks)
A 3- phase, 50 Hz, 150 km linethas a resistance , inductive'reactance and capacitive shunt
admittance 0f 0.1Q , 0.5 Q é%nd;ﬁ x 10 S per km per phase. If the line delivers 50 MW and
110 KV and 0.8 p.f lagging, determine the sending.énd voltage and current. Assume a
nominal ‘n’ circuit forthe line. CanY (10 Marks)
Write short note on ‘Ferranti effect’. v (04 Marks)

)
Bring out the diffe nce between :
i) Feeders ,distributions and service mainss *

ii) Radial§ystem and ring main systems. (06 Marks)
Explainthe various types D.C. distributions. (07 Marks)
What, are the methods used to solvifig'A.C. distribution problems? Explain any one method
in detail’" a4 (07 Marks)
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